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Note :— This paper is of Seventy (70) marks divided into
Two (02) Sections ‘A’ and ‘B’. Attempt the
questions contained in these Sections according to
the detailed instructions given therein. Candidates
should limit their answers to the questions on the
given answer sheet. No additional (B) answer

sheet will be issued.

e :— I8 Y-TF T (70) 3Thi H1 ¥, S < (02) WUE
‘w' 1 ‘@' § fawfa g1 T@® @vE # fiu
forega FAdwil & STIUR & el 1 81 i § | GRTeITe
37T gvt @ IO §1 TF IR-YfkaenT ak & dua
G| @i il (al) IX-YRaawr aRt 78 @t
ST |
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Section-A
(TUs—h)
Long Answer Type Questions
(& swa ue) 2x19=38
Note :— Section ‘A’ contains Five (05) Long-answer
type questions of Nineteen (19) marks each.
Learners are required to answer any two (02)
questions only.
e — wve'w’ | uig (05) < g ueE e T E, uae
¥ & fau s+ (19) 3w freifa €1 frenfiat =
T G Had & (02) YAl & W S T
1.  Write an essay on population growth in India.
AR SHae # gfg | us ey fafem
2.  Trace the evolution of the present population policy in
India. Suggest measure to improve it.
ARA ! IAHH SHEEA ifd & Sideh foew™ &1 saen
Y& HITT | 38R GURA & 3 AT |
3. What is physical quality of life index ? How is it
constructed.
e =t wfifdes ToTer ki F1 ¥ 2 3HeR fmior fha
TR foRar S 2
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4.  What do you understand by economic development ?
Differentiate between growth, development and

progress.

ek o @ o9 91 gHe § 2 Gafg, fawm @
Tfa | AR SdET|

5. Explain the causes of urbanisation and write its effects.
TRIGOT & HRON hl T FHiGC IR 3@ g9E
fefer |

Section-B
(Tvs-wa)
Short Answer Type Questions
(TG SEIE u9) 4x8=32

Note :— Section ‘B’ contains Eight (08) Short-answer type
questions of Eight (08) marks each. Learners are
required to answer any four (04) questions only.

diE — @ug ‘@’ # ame (08) @Y SwA wed T W™ ¥,
e U & fau o7e (08) i fawifea €1 feranfemt
I T8 G Hhael |’ (04) T & W 3 |

1.  Write a note on need of population policy in India.
ARG # SEe Hifd & stavashar R feoof fafem |
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What are the causes of limited success of family welfare
programme in India ?

O § INEaR hearol wiEshd i ifad Ihadl & &
FHRO T ?

Write a short note on women Education in India.
ad | Afgen foran W iy feoon fafem)

What are the main steps in construction of human
development Index ? Write.

aFa fosE gowie & O & gem o F@ ¥ 2
feferm |

What do you understand by population explosion ?
SHEE foehie | T F 9HEd § 2

State the factors which encourage migration.

YT ! FFEl o4 It hehi ol Sooid hiToTT |

Differentiate between Internal and International

Migration.
Afeh Yo 9o SR Yard | 9 sifs |

What are the importance of age and sex composition in
the world ?

fova § oY W a7 =T & A8 &l T HitIT |

*hkkkikkkkikkikkikk

A-968/MAEC-610 (4)



